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[ Multiplication Algorithm-2
]
1 5 1 Multiplication of Tens
.

< [FEHE5 1 Caleulate 5 X 30.

5 x 3 = |5
|Oﬁmesl llOﬁmes
5 x 30 = I50
5x30=ﬂ

When the number in the
multiplier becomes |0 times
as much, the answer also

becomes |0 times as much.

The answer for 5 X 30 is the same as |0 times as much as b

X 3. Therefore, the answer is the same as placing a 0 to the
right of |5.

|_1_' Calculate the following multiplication problems.

H X
8 X

50 =

40 =

4 X 30 =

9 X 70 =

6 X 60 =

7 X 20 =

< [3EE 2 Calculate 12 X 30.

12 X 3 = 36
IOtimesl l |0 times
|12 X 30 = 360
2% 30 =] 360

When the number in the
multiplier becomes 10 times
as much, the answer also
becomes 10 times as much.
This is the same as in

example |.

The answer for 12 X 30 is the same as |10 times as much as

|2 X 3. Therefore, the answer is the same as placing a 0 to
the right of 36.

I_Z_I Calculate the following multiplication problems.

|12 X 40 =
26 X 30 =

152
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23 X 20 =
31 X 40 =

o

32 x 30 =

60 X 30 =
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( Multiplication Algorithm-2 A
1 5 B 2 Multiplication by 2-Digit Numbers ()

< [3€;5 Calculate 12 X 23 by using the algorithm.

| By Line up the numbers vertically in
@%\X\‘ QL3,>@ each place.
3 6
. . 3 times 12 is 36.
(This is actually 12 X 3 = 36.)
x Oty
& 3 6 2 times 12 is 24,
0 4B (This is actually 12 X 20 = 240.) =
In this . @b
) were® Do the addition. 1220 12x3
\Sz:::;:l;ut x 23 36 + 240 = 276 EHEHHEHEHHEHEHHEHEHQEBHE
S 024 G
e O35l 1% 23= 276 %%

Calculate the following multiplication problems by using the algorithm.

Hundreds| Tens | Ones Hundreds| Tens | Ones Hundreds| Tens | Ones

2 2 3

< 33 x 32 x 22
| B

.+ o+

21 X |4 3 X |2 41 X |2 23 X 2|

33 X || 24 X 2| |4 X 22 42 X ||

153
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( Multiplication Algorithm-2 A
1 5 B 3 Multiplication by 2-Digit Numbers (2)

= [3F€5 Calculate 13 X 24 by using the algorithm.

| 3 Line up the numbers vertically in
(=0 ——x X e3=08)  each place.
5 2
. 4 times |3 is 52,
e (This is actually |3 X 4 = 52))
2 | =®JX§; tQ-"[m
3P 2 times |3 is 26.
9 6wl (This is actually 13 X 20 = 260.)
= sk
3 Do the addition. 13 % 20 |3
X 2 4 =
- 9220012 Gmenaneenaneeneanatcand
AN
31 2

Calculate the following multiplication problems by using the algorithm.

Hundreds| Tens | Ones Hundreds| Tens | Ones Hundreds| Tens | Ones

3 4 3

x 35 X

W 24 x 15
=R
+ + +
24 X 23 47 X |2 26 X |3 23 X 34
25 X |3 27 X |2 39 X |2 19 X |4

154
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[ Multiplication Algorithm-2
1 5 B 4 Multiplication by 2-Digit Numbers (3)

= [F€n5 Calculate 13 X 75 by using the algorithm.

J

Line up the numbers vertically in
CRIEC— #2 =00 each place.
6 5 . .
J 5 times |3 is 60.
(This is actually 13 X 5 = 65.)
7% | =@JX—§(;J:< 7 x 3 =)
T 7 times 13is 91,
20 (This is actually 13 x 70 = 910.)
—»q <5
- -
| 3 Do the addition.
x 75 65 + 910 = 975
6 5
| 0
7?/ 13 x 75 = 975 %%

|+
Q‘Qw

Calculate the following multiplication problems by using the algorithm.

Hundreds| Tens | Ones Hundreds| Tens | Ones Hundreds| Tens | Ones

13 2 9 3 8
T4 x 23 x 2

|9 X 34 |15 X 36 28 X 32 37 X 22
|7 X 44 |18 X 35 27 X 33 |4 X 57
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[ Multiplication Algorithm-2
1 5 . 5 Multiplication by 2-Digit Numbers (4)

. J

—»[3E0:d5 Calculate 42 X 23 by using the algorithm.

42 X 23 = 966

Line up the numbers vertically in
€ “:@@/Qk‘}-g) 22220 gach place.
2 6
— 3 times 42 is 126.
(This is actually 42 X 3 = [26.)
2x4 :@J;‘; :;_fg‘\* 2% 2 =@
DT 2 times 42 is 84.
8 4« (This is actually 42 X 20 = 840.) ¢
- ey
"7 oomescoton SRR
X 2 3 —
o, (2ot 80 =900 BHRRIERRR R
L8 40 EEE R
6 6 e

Calculate the following multiplication problems by using the algorithm.

Hundreds| Tens | Ones Hundreds| Tens | Ones Hundreds| Tens | Ones

32 39 7

x| 24 x 10 x 4 6

24 X 37 43 X 19 b6 X |4 42 X |8
38 X 26 |18 X 36 27 x 37 b4 X |3

156
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( Multiplication Algorithm-2 )
1 5 -6 Multiplication by 2-Digit Numbers (5)
L J
< [3EE  Caleulate 36 X 47 by using the algorithm.
Line up the numbers vertically in
X 3= — 3 6 X 6=
7x3 @@f\§~4k.7, <008 gach place.
25 2 | .
" 7 times 36 is 252.
s s [0 (This is actually 36 X 7 = 252.)
mf§\<i’§‘ 4% 6=0
2152 4 times 36 is |44.
| 4 4et (This is actually 36 x 40 = 1440.)
+2°"° HM Ones
T 36
« L 7 Do the addition.
) & o 252 + 1440 = 1692
+ | 4 4 0
%% RSP 4 36 X 47 = 1692

Calculate the following multiplication problems by using the algorithm.

One

One

One

Thousands|undreds| Tens | Ones Thousands|undreds| Tens | Ones Thousands|undreds| Tens | Ones

3767 80
X 46 X 20/ X 4 9
+ -+ +

52 X 38 63 X 76 77 X 44 38 X b6

65 X 47 89 X 36 b8 X 49 76 X 63
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[ Multiplication Algorithm-2
1 5 B 7 Multiplication by 2-Digit Numbers (6)

. J

—»[3€i:5 Calculate 28 X 30 by using the algorithm.

e Line up the numbers vertically in
(0x2=0= > s%\_S) each place.
0 0 0 times 28 is 0.
] T | O (This is actually 28 X 0 = 0.)
- 2 8
2= 3-0 " =00 3 times 28 is 84,
< (This is actually 28 x 30 = 840.)
58 4
2 == Write a 4 in the tens place and a 8 in
7 8 the hundreds place.
X 8 8 Do the addition.
. 0 + 840 = 840
+ 8 4 8{
28 X =
%%} =% 8 x 30 = 840 %%}

Calculate the following multiplication problems by using the algorithm.

Hundreds | Tens |Ones Hundreds| Tens |Ones Thoweands| Hundreds | Tens | Ones

29 43 72
<30 20 e 80

i + +

LT X 60 7% x 60 @ 86 x40 € 27 x 80
76 X 90 63 X 70 83 X b0 64 X B0

Regarding problem (I 1), pay attention to the number of Os. p U 5

158
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[ Multiplication Algorithm-2
1 5 - 8 3-Digit x 2-Digit Calculation (I)

—»[FE:d5 Calculate 123 X 32 by using the algorithm.

Ore |Hundreds| Tens | Ones

uuuuuuu

Line up the numbers vertically in

2 3+ .

2x | =) e 2x3=(9

@X} L\33,2\ a0 each place.
4

L2 1 2times 123 s 246.
& (This is actually 123 X 2 = 246.)

=
=l
a
o

I
O & 0w 8
P o |ns

uuuuuuuuuuuu

3><|=(3)Jt;
<

3 S3xas
? /%@ 3 times 123 is 369.
7| (Thisis actually 123 x 30 = 3690.)

e |Hundreds| Tens | Ones

Do the addition.
246 4+ 3690 = 3936

123 x 32 = 3936 %%

Calculate the following multiplication problems by using the algorithm.

N
WO WD

One One One
Thousands | Hundreds| Tens | Ones Thousands | Hundreds| Tens | Ones Thousands | Hundreds| Tens | Ones

1372 324 21 3
| L 122 g L 12 a2

221 X 34 112 X 53 |44 X 2| 331 X 2|
133 X |2 243 X 22 342 X |2 233 X 23
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[ Multiplication Algorithm-2
1 5 B 9 3-Digit x 2-Digit Calculation (2)

—»[FE0i:d5 Calculate 218 X 34 by using the algorithm.

oo |Hundreds| Tens | Ones

nnnnnnnnn

| 8 Line up the numbers vertically in
—4) each place.

S 2 htimes 2181s 872
(This is actually 218 X 4 = 872))

x k_

X

A 3 times 218 is 654.
2 (This is actually 218 X 30 = 6540.)

0—— 218 x 30

N 94 w—

sssssssss

Do the addition.
872 + 6549 = 7412

</ 218 X 34 = T412 %%

Calculate the following multiplication problems by using the algorithm.

— |~ 9¢w —
N[O N | & o0)F

+
[0
£~ |O1 % 00

One One One
Thousandgs |TUndreds| Tens | Ones Thousandgs |TUndreds| Tens | Ones Thousandgs |Undreds| Tens | Ones

326 2 38 21 6
< T23 x 24 x 36

129 X 45 |45 X 56 359 x 27 229 x 23
368 X 26 156 X 38 374 x 26 167 X 29
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W JICA_34_ZAF5_P152-171.indd 160 $ 2022/02/25 14:11:13(




[ Multiplication Algorithm-2 )
1 5 - 10 3-Digit x 2-Digit Calculation (3)
. J
< [3€:5 Calculate 576 X 38 by using the algorithm.
o 6 Line up the numbers vertically in
x \%—8) each place.
460 B8] gimes 576 is 4608.
. (This is actually 576 X 8 = 4608.)
57 6
y A3 A
AR 3 times 576 is |728.
M This is actually 576 X 30 = 7280
| 7 2 8 (—=576x30 ( y )
&
6
IR Do the addition.
T 4608 + 17280 = 21888
4 60 8
+ 17280
2 1 8 8 8 76 X 38 = 21888

Calculate the following multiplication problems by using the algorithm.

o ke | Huntteds | Tens |Ones o ke | Huntteds | Tens |Ones e | Huntteds | Tens |Ones

© 566 367 176

X 34 x 32 x 04
+ + +

748 X |b 458 X 67 b67 X 49 386 X 48

|69 X 87 768 X 35 687 X 49 183 X 96
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[ Multiplication Algorithm-2
1 5 B 11 3-Digit x 2-Digit Calculation (4)

—»[FE0:d5 Calculate 304 X 52 by using the algorithm.

ne
ssssssssssssssss Hundreds| Tens | Ones

3 2\5 4‘> Line up the numbers vertically in

each place.
6 0 §—304x2

Thovends| Travens | Hundreds | Tens | Ones

X

2 times 304 is 608.
(This is actually 304 X 2 = 608.)

8 5 times 304 is 520.
0 <) (This is actually 304 X 50 = 15200)

Tn | ow
ssssssssssssssss Hundreds| Tens | Ones

4
5 Do the addition.

3 608 + 15200 = 15808
0

8

304 X 52 = 5808 %%

Calculate the following multiplication problems by using the algorithm.

OO OoOjor O

+
ool
o0 [N ¥ O

Ten One Ten One Ten One
Thousands | Thousands Hundieds | Tens | Ones Thousands | Thousands Hundeeds | Tens | Ones Thousands | Thousands Hundreds| Tens | Ones

- 307 502 407
x99 x| 64 x| 76

706 X 83 809 X 94 608 X 47 506 X 47
409 X 38 705 X 75 808 x 88 605 x 37
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Multiplication Algorithm-2
3-Digit x 2-Digit Calculation (5)

—»[FE:d5 1 Calculate 609 X 30 by using the algorithm.

s ”“”(":"5 o Oq Line up the numbers vertically in each place.
o \\3&0) 0 times 609 is O.
(This is actually 609 x 0 = 0.)
0 0 0—"609x0
Ten One.
— ”"”é'e“ o Oq 3 times 609 is 1827.
g (This is actually 609 x 30 = 18270.)
X K_3_jo
00 0 Do the addition.
0 + 18270 = 18270.
+ 1827 o
| 8 27 0F 609 x 30 = 18270

Calculate the following multiplication problems by using the algorithm.

Thousands | Thousands

Hundreds | Tens |Ones

607

4 0

506 x 80 407 x 90
308 x 70 704 X 50

n One
Thousands | Thousands | HUNdreds| Tens | Ones

oty

—w[FE0:d5 2 Calculate 600 X 75 by using the algorithm.

Line up the numbers vertically in each place.

5 times 600 is 3000.

o | o
Thousands | Thousands | HUndreds| Tens | Ones

+
~le

olo o| ,o
1
o)
1
oro

3
2
5

30 0 O<M (This is actually 600 X 5 = 3000.)

7 times 600 is 4200.
(This is actually 600 x 70 = 42000.)

Do the addition
3000 + 42000 = 45000

600 X 75 = 45000

Calculate the following multiplication problems by using the algorithm.

Ten
Thousands

One
Thousands

Hundreds| Tens|Ones

600

g ¢

700 X 48 800 x 37
500 x 68 400 X 97
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( Multiplication Algorithm-2 A
1 5 - 13 Mental Calculation
<305 Think about how to calculate these problems in your
head.
25 X 3 =75 2 X 3b =| 64
25 X 3 A 2 x 32
First 20 X 3 =60 First 2 X 30 = 60
Second 5 X 3 =15 Second 2 X 2 =4
Altogether 75 Altogether 64
Think about how to calculate the following multiplication problems in
your head.
23 X 3 = 42 X 2 =
N N
20 3 40 2
20 X 3 = 40 X 2 =
3 X 3= 2 X 2=
|15 X 3 = 21 X 4 =
N N
10 b 20 |
10 X 3 = 20 X 4 =
b X 3= | X 4 =
25 X 2= 33 X 3 =
32 X 4 = 3 X 25 =
4 X 23 = b X |3 =
2 X 34 = 6 X 2=

164
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[ Multiplication Algorithm-2
|
1 5 14 Multiplication Problems
.

< [3€;][5 There are 35 students in my class. The teacher will
give |2 sheets of paper to each student. How many
sheets of paper does the teacher need?

J

0 12 120 240 360 (sheets of paper) | 2
Paper | | I I i | X 3 5
Nurerct || | | ] 60
0 | 10 20 30 35 (students) + 3 6
4 2 0
Math
|2 X 35 = 420 Answer | 420 |sheets of paper
Sentence

Answer the following problems.
There are 43 children in the class. The teacher will provide 15
sheets of exercises to each child. How many sheets of exercises
does the teacher need?

015 150 300 450 600 |
E::fctisss; | | [ i | i | (sheets of exercises)
Number of | | | | | | |
Children || [ [ [ [ [
0 | 10 20 30 40 43 (children)
X
Math
Sentence
+
Answer sheets of exercises

The length of one train car is 25 m. How long is the total length
of a train with |7 cars?

Math X
Sentence
Answer m T

165
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Multiplication Algorithm-2
1 5 . 15 Review

|_1—| Calculate the following problems in your head.

De6x17 = (D4 x40 = ()8 x 60 =
@12 x30= )32 x 20 = 60 x 40 =
D25 x3 = ()32 x3 = D2x36 =

|_2_| Calculate these multiplication problems by using the algorithm.

) 32x13 @ 26x15 € 28x23 @ 5 x 13

X X X X

%% + + - -

G 46x38 @ 224 x21 € 359 x2 ) 576 x 35

|_3_' There are 32 boxes containing 24 cans of orange juice each.
How many cans of orange juice are there altogether?

Math
Sentence -
Answer cans of orange juice +

166
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